1. Fill in the boxes.

(a)

kg Y 1kg

G 7~ The mass of the chicken is kg.

() The mass of the packet of breakfast

cereal is kg.

The mass of the packet of flour

is kg.
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(e) The mass of the 3 apples is

kg

O
(f) [k

| Thé’mass of the 3 oranges is
kg

Q '
or———

&5 m
(g0 The mass of the 2 pears is kg. 7 %L A

Q

(h) % ,& The mass of the 2 lemons is

kg
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(a)
(b)
()
(d)
(e)
(f)

9)

The mass of the box of apples is kg.

The mass of the packet of salt is kg.

The mass of the cake is kg.

The cake is kg lighter than the box of apples.
The cake is kg lighter than packet of salt.

The C Co Ke j is the lightest.
The C_i o b bles j is the heaviest.
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